4

Note :

1. All questions are compulsory.

2. Draw neat diagram wherever necessary.

3. Figures to right indicate full marks.

Q.1 Attempt any Two.

A) Explain the importance of elasticity of demand.

B) Describe the significance of demand forecasting.

CEal Price of comodity Y’ rise from Rs. 10 to Rs. 20, the demand for

commodity x falls from 5 units to 2 units. Calculate the cross elasticity

of demand of commodity x.

Q.2 Attempt Any TWO.

A) Explain the law of variable proportions.

B) Write the difference between economic cost and accounting cost.

C) If the Total Fixed Cost is Rs. 400, calculate the Average Fixed Cost and

marginal cost from the following table.

Quantity of Output 1 7. 3 4 S 6
Total Cost 436 | 450 | 465 | 490 | 510 | 550
Q.3 Attempt Any TWO.

A) What are the different types of profit?

B) Discuss the growth maximisation objective of the firm.

C) If the Total Fixed Cost of a firm is Rs. 65,000 and variable cost per

Q.4 A) State with reasons whether the following statements are TRUE or
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unit is Rs. 25, and selling price is Rs. 50, Calculate the Break even

output and amount of the firm.

FALSE (Any FOUR)

Size of population is a determinant of demand.

Advertising of commodity influences its demand.

Isoquants do not intersect each other.

T Aanc M1 Averace Coet Clirve ie known as Planning Clurve .
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6.

In monopoly there are many sellers.

Under perfect competition Average Revenue Curve is below Marginal

Revenue Curve.

B) Choose the correct answers and rewrite the statements. (Any Seven)

1)

2)

3)

S)

6)

When price is less than marginal utility consumers surplus is
a) Positive b) Zero

c) Negative d) None of the above

Which of the following is not the determinant of demand ?

a) Income b) Taste

c) Fall in demand d) Price

Which of the following methods make use of historical data and demand

determinants to forecast demand.
a) Market experiments b) Consumers opinion

c) Experts opinion d) Statistical

................... is the additional output produced by an additional unit of

variable factor.
a) Marginal Product b) Average Product

c) Total Product d) None of the above.

Fixed costs are these costs that do not change as due to which factor

........................

a) Labour b) output

c) Capital d) All of the above

................................... are enjoyed by a firm as a result of its own

expansion.
a) Internal economies of scale b) External economies
c) Price d) None of the above
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7) Under perfect competition, demand curve of firm is ..................
a) Perfectly inelastic b) Relatively elastic

c) Perfectly elastic d) none of the above

8) Under Monopoly when can more be sold ?

a) at same price b) at lower price
c) at different prices ' d) none of the above
9) Avéfage Revenue is eqiidbid thie .. =, 000 Snde per unit of output.
a) Marginal Revenue b) Price
c) Cost d) Income.
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